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direction=u, layer=1, muons, p=0.1 GeV
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direction=u, layer=3, muons, p=0.1 GeV

o
o)
%)

o
[o°)
o

©
~
N

0
O
)
=
D
8]
3
\
ASS

©
(@)
S

cluster efficiency per truehit

o
U
o

80 100
0/degrees




direction=u, layer=3, muons, p=2.1 GeV
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direction=u, layer=4, muons, p=0.1 GeV

o
o)
%)

o
[o°)
o

©
~
N

0
O
)
=
D
8]
3
\
ASS

©
(@)
S

cluster efficiency per truehit

o
U
o

80 100
0/degrees




direction=u, layer=4, muons, p=2.1 GeV

o
o)
%)

o
[o°)
o

©
~
N

0
O
)
=
D
8]
3
\
ASS

o
(@)]
2

cluster efficiency per truehit

o
U
o

80 100
0/degrees




direction=u, layer=5, muons, p=0.1 GeV
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direction=u, layer=6, muons, p=0.1 GeV
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direction=u, layer=6, muons, p=2.1 GeV
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direction=v, layer=1, muons, p=0.1 GeV
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direction=v, layer=2, muons, p=0.1 GeV
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direction=v, layer=2, muons, p=2.1 GeV
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direction=v, layer=3, muons, p=0.1 GeV
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direction=v, layer=4, muons, p=0.1 GeV
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direction=v, layer=4, muons, p=2.1 GeV
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direction=v, layer=5, muons, p=0.1 GeV
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direction=v, layer=6, muons, p=0.1 GeV
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direction=u&v, layer=4, muons, p=0.1 GeV
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direction=u&v, layer=6, muons, p=0.1 GeV
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direction=u|v, layer=2, muons, p=0.1 GeV
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direction=u|v, layer=2, muons, p=2.1 GeV
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direction=u|v, layer=3, muons, p=0.1 GeV

o
o)
%)

o
[o°)
o

©
~
N

0
O
)
=
D
8]
3
\
ASS

©
(@)
S

cluster efficiency per truehit

o
U
o

80 100
0/degrees
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direction=u|v, layer=4, muons, p=0.1 GeV
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direction=u|v, layer=6, muons, p=0.1 GeV
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